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(D 2z 4 50AG, 1, 3), B(4, 4, 3), C(2, 3, 5), D(4, 1, )»d»H3.

(i) DAL DBOATf%EOrB<Ls, 0= 7 | Ths. ~EL, °<O<180° ¥ 5.
(ii) mufEfk ABCD ol TH%.

(2) a%FEHELT5. 2I2O0TO2RXFBRR 22— 2xlogy{(a+1)(a—5) +4=0DED 1 ON2TH %
L%, aofii THB. I, O 2RSTERAEIIE BB E S a 0o R
Thd.

(3) FHR 22 +21 <y < 20+ 2 < 3y ORTHEO R Ths. E7, ZOREEDN (z, ¥)
D>, br— 3y HENE BB & 575 K0 KR Th3.

(4) nIZIEOEEEL T, B2 1 EIZ1E, 2BRFAIXIEED. 20X, nBENORIBEROEYD DK
B a,b 55, iz, ag=1THhY, ap=2Tdh5.

(1) ag OfEE Thd.
(ii) aq DAEE Thd.
(iii) ayg DFElZ Thd.

) 0<t<Frys. Eliﬂ%%yzsinxﬁ@;ﬁP(t—i—i sin(t+l)) CB SR LB, HE

2 2
xz%%mc‘:%‘%, L L ERm DR E QLT .

(i) t=5ors, HQOmHE Thb.

(i) iy = sinx L L B LOEK m CHENZEHOMEREE SO L2 L X%, iR tn%%” Y[

k[T ] chs.




